

حل المسئلة (د)
 (المتكاملات) والتمارين

١٠

$$\int x^2 e^{2x} dx = x^2 e^{2x} - 2 \int x e^{2x} dx$$

$$= x^2 e^{2x} - 2(x e^{2x} - e^{2x}) + C$$

$$= e^{2x}(x^2 - 2x + 2) + C, \quad \text{correct}$$

١١: $x^2 e^{2x} \rightarrow u^2 e^{2u}$
 $x^2 e^{2x} \rightarrow u^2 e^{2u}$

$$\int \ln(x + \sqrt{x^2 + 1}) dx = x \ln(x + \sqrt{x^2 + 1}) - \int \frac{x}{\sqrt{x^2 + 1}} dx$$

$$= x \ln(x + \sqrt{x^2 + 1}) - \sqrt{x^2 + 1} + C, \quad \text{correct}$$

١٢: $\ln(x + \sqrt{x^2 + 1}) \rightarrow u$
 $x^2 e^{2x} \rightarrow u^2 e^{2u}$

$$\int \frac{x^2}{(x^2 + 1)^2} dx = -\frac{1}{2} \frac{x}{x^2 + 1} + \frac{1}{2} \int \frac{1}{x^2 + 1} dx$$

$$= -\frac{1}{2} \frac{x}{x^2 + 1} + \frac{1}{2} \arctan x + C, \quad \text{correct}$$

١٣: $x \rightarrow u^2 + 1$
 $x^2 \frac{x}{x^2 + 1} \rightarrow u^2 - \frac{1}{2} \frac{1}{u^2 + 1}$

$$\int_0^{\pi} (x^2 + \cos x) \sin x dx = -\left[\frac{1}{3} x^3 + \cos x \right]_0^{\pi} + \int_0^{\pi} (2x + 1) \cos x dx$$

$$= -\left[\frac{1}{3} (\pi^3 + \pi + 1) \cos \pi + \left(\frac{1}{3} (0^3 + 0 + 1) \cos 0 \right) \right] + 2 \int_0^{\pi} x \cos x dx$$

$$= -\left[\frac{1}{3} (\pi^3 + \pi + 1) (-1) + \frac{1}{3} \right] + 2 \left[x \sin x - \int \sin x dx \right]_0^{\pi}$$

١٤: $x^2 + \cos x \rightarrow u^2 + 2x + 1$
 $x^2 + \cos x \rightarrow u^2 + 2x + 1$

$$\int \frac{dx}{1 + e^{2x}} = \int \frac{dx}{e^{2x}(1 + e^{2x})} = \int \left(\frac{1}{e^{2x}} - \frac{1}{1 + e^{2x}} \right) dx = 1 - \ln|1 + e^{2x}| + C$$

١٥: $\frac{1}{1 + e^{2x}} \rightarrow \frac{1}{1 + u}$

$$\int \frac{dx}{x + \cos x} = \int \frac{dx}{x + \cos x} = \arctan(x + 1) + C, \quad \text{correct}$$

١٦: $x^2 + \cos(x + 1) \rightarrow u^2 + 2x + 1$
 $x^2 + \cos(x + 1) \rightarrow u^2 + 2x + 1$

$$\int \frac{dx}{x + \cos x} = 2 \int \frac{dx}{3 + 4x^2} = \frac{2}{3} \arctan\left(\frac{2x}{\sqrt{3}}\right) + C, \quad \text{correct}$$

١٧: $\sin x \rightarrow \frac{1 - t^2}{1 + t^2}$
 $\cos x \rightarrow \frac{2t}{1 + t^2}$

$$\int \frac{dx}{x + \cos x} = \int \frac{1 - t^2}{1 + t^2} \cdot \frac{2t}{1 + t^2} dt = \int \left(\frac{1}{1 + t^2} - \frac{t^2}{1 + t^2} \right) dt = \ln|1 + t^2| - \int \frac{t^2}{1 + t^2} dt + C$$

١٨: $\frac{1}{x + \cos x} \rightarrow \frac{1}{1 + t^2}$
 $\frac{1}{x + \cos x} \rightarrow \frac{1}{1 + t^2}$

$$\int \frac{3x^2 - 2x^3 + 1}{x^2 - x + 1} dx = \int \frac{(3x^2 - 2x + 1)(3x + 1) + 1}{x^2 - x + 1} dx$$

$$= \int (3x + 4) dx + \int \frac{dx}{x^2 - x + 1} = \frac{3}{2} x^2 + 4x + \frac{2}{\sqrt{3}} \arctan\left(\frac{2x - 1}{\sqrt{3}}\right) + C, \quad \text{correct}$$

١٩: $\frac{1}{x^2 - x + 1} \rightarrow \frac{1}{(x - \frac{1}{2})^2 + \frac{3}{4}}$

